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The following function createstack() creates instances of the stack
data structure:

function createStack() {
return {
items: [],
push(item) {
this.items.push(item);
}J
pop() {
return this.items.pop();
}
}s
}

stack = createStack();
push(16);

push(5);

pop();

items;
items

The stack works as expected, but with one small problem.
Anyone can modify any item directly because stack.items
property is exposed.

That's an issue since it breaks the encapsulation of the stack:
only push() and pop() methods should be public, but stack.items or
any other details shouldn't be accessible.

Refactor the above stack implementation, using the concept of
closure, such that there is no way to access items array outside of
createStack() function scope:



function createStack() {

}

const stack = createStack();
stack.push(10);
stack.push(5);

stack.pop();

stack.items;

2. Write a function multiply() that multiplies 2 numbers:

function multiply(numl, num2) {

Ifmultiply(num1, numb2) isinvoked with 2 arguments, it should return
the multiplication of the 2 arguments.

But if invoked with 1 argument const anotherFunc = multiply(num1),
the function should return another function. The returned function when
called anotherFunc(num2) performs the multiplication num1 * num2.

multiply(4, 5);
multiply(3, 3);

const double = multiply(2);
double(5);
double(11);

3. Implement currying for a function with multiple parameters using closure:

function curry (fn) {

}
function multiply (a, b, c) {
return a * b * c;

}

var curryMultiply = curry(multiply);




console.log(curryMultiply(2)(3)(4));
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rotate(L, L1).
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rotate([2, 3, 4, 5,
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fibo(N, N1).
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fibo(7, N1).

N1 = 13.
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letter_num_list(L, [X, Y]).
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letter_num_list([1,4,a,b,2,d],X).

X =1[[1,4,2], [a,b,d]].




